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Q1 is the 25th percentile. Median of lower half. 

Q2 is the 50th percentile AKA median 

Q3 is the 75th percentile. Median of upper half. 
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4.1 Practice Problems 

 

X X2 

147 21,609 

175 30,625 

180 32,400 

185 34,225 

194 37,636 

196 38,416 

223 49,729 

225 50.625 

240 57,600 

1765 352,865 
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c. 147, 175, 180, 185, 194, 196, 223, 225, 240       

d. Q1 = ((175 + 180)/2 =177.5  Q3 = (223 + 225)/2 =224 

e. No outliers, therefore the best measure of a typical value is the sample mean, 196.1. 
Check for outliers: IQR = 224 – 177.5 = 46.5 
Lower Limit = 177.5 – 1.5(46.5) = 107.8 
Upper Limit = 224 + 1.5(46.5) = 293.8 
 

f. Because there are no outliers, the best measure of dispersion is the sample standard deviation, s = 29.0. 


